2017.3.31

A%
%28 (2016) 4 FE EERCRI
1. AR
= 60% HhHk 36% FE | g% aat
o x| EM | G B | SR | G g | zom |
5 9 0 7 16 10 1 11 0 28
-8 3 1 8 12 6 0 6 1 0 19
B 12 1 15 28 16 1 17 2 0 47
2., MR (e de)
(1) K=
IR (R O R 2EH) B s (R2EE0)
REPE () RATRYE CEMREESER)  RAUEEE (REZW) 24
UM (RESE) AR (RE— V) 24
ABEFESE R OB ARFRE (RE— Y E2E)
BRIRERIEE (Ao )
(2) Fs A
$8 b H 4 T (SR R
(3) B2k
A AET
NAKER TR AR 77y ar Iy AR
AKRFEERESS  ABRSCEL  AFBHBEASE  AHANEDE ARSI
AREECX AT L Y AR 2—F 4 —7— | ARIRAALA—VY &I T =
AR A A B T A
(4) 5EH%
CEWN) AR AT S R KRS 2 4
v I ANY 2a—EF 24 ABCENTE4L ] ALBEN s
FIEEXT FRyFy— i AAS AERAKTF L  EFala=b—iaL R

W) Bk 24
(RS )1 2

A--AOANK (HCHER) . M —ixAR

*ZBRGA R FERHEE AL, A5 (k) #HEBAR, R ARV HEB A




